Exam 1 2014  SS2i4

=4 v n-z m e 2 -4
a\ o X) wne = 0,4 o NG A '3/ lé y 10 = b4 10 o
S o -
0,1 ’//7 J c/ o3 ~19 28 b e
R ,"ifro-l‘:' fm= = |, 6,10 , o - a0 22 19 Cm™ [ 2
- ;R .
A ) 5 (=2 t ! X L 3
2 = VO S LR p : ' , , . TR 4
B 0 “im= [ Lo22.10 x ¢.4.(o = TO,284 10" &/ M
D b .
T & o e i5,9% /.
Caaryem a8 ~ - Ty 154, §» - ;A =L 0y 3 i [#]e) A -
= ’ e ’
- Py NN 5
il 4o AT, Ued T
w3 ¥J L 1 f ) *(:
g oy Jv\,‘\_ _ : a1l S
£) fH— 17— (]
Vi L | i (F !
. Ay (S Nt 4 4 ' S alt
:)'f‘- g L "“f_‘a f_JLJ ol t i b ey
i ¥ { i ”
l’ [ ) ) [ o 5 2 }
b v "~ o - - / :
) f 3 T F o .23 P S/
- 7oy b AR = g
Uy GO0k .55 - Cay () .
. e 2 60 —— ’ e b
I. ? e :'. 1 -—
C> 2 ‘;’ " S <
P s
. ¥ Ab. - >! 4 W
! d W 1 -
v 3 Ing < v . B R /D{{V{«,.z c5S TIL Fearile
j = 108 = - TR -;’g
¥ 7L 2T NG g 14 v -
e AAMER Yy o 9 - ! ;
3 !
-l e ' A - 1}
) Conrent | 2 st <A
Pl ' v N } - - -‘.
_artea ¢ [P \ ! [P L g = i 4 = & /:
Volhiie orrsd 2450 mouln A3\ +iady 4V
e 20 *.=
ArgE L <l - !
- . . d - { E ; f —1 ',1 2
VR e ! - Lo o 4+ | 4 %
Charr b oa L0 1 dei Ly g Loy ol 2
-— - - [l y { ",
F it F' & ciat o 1:( A L - e e b | 4
s e 7 ;‘\ § 4 L } { 3 fj 7 [ .” ‘-:
8w bt o £ 5 1
7)
¢ 1 o 2 {
b h Nr e g DA S T s )
0{3 Ta wolk out pVRg defivered , WK 2 i * '
\ . N =) =y - §
[t24 61119 = L L4 L) 24 = A P » =y - S
[ 14 ) 3 _
l. \
. v e\ o ~ -~ - - fm T 2}
“'..,r' + LA _' ! ~ = ‘ 2 ) i i | I ‘;" = ( o, B’ ; | | 2 =t ) ; ? 2 }f_-y pEd
y 2 . ) .
{ - TL % ' e
( O i (f = o ' 3N i '2_) & |
v Y — -



E»\# &
ti K--ﬁ)'ta "- 2

{k) ‘q s Fiaay \E{{I{,l Faks:} v’f’_)
hY
3 - = \
! . " 175 TR - =
‘/x_ (30 Ve 4 UV S = 13 _'-Jr_/; - D (L)
Y R ST, A
o D g0
T fiae :
L Pl | 31) ,r{ it ( .{‘_
S
OU)=Wx & 32 J, —4do v U, 4 2J, - 300 4 20 ((50- U’,r> = D
. - 4
2
6JJC = (oo )
\jzr II-L"_‘) Lu‘.’ q]
("T .
‘15 ‘\,)1, /‘/\.ML e e ofrn
So= 5( T} 420/ 7 -1, ()
N { ) N s, . \ N e
- ol e S Sepae { o -~ \ .
= o, '] - H o | ,I i | { - (A
0% S T,-T) ¢ ITp4lr,~T) L
R Y
; ~ - o\ ' ) ()
O = Raf 5 =L\ U ef{rT. -1 }4+ ST iy
U —3 ==\ L= + 2 -~ .
i \F— LS - p Y
topnlraal Iy, 2= 73 \“’) )
TP N - . : - - - —
(k"4 ; —}(“() D> Ja ‘_".., - 1laTr, 4 T, ~&i. 4 (ST =13 5
3 - 1) i 3 =
0= -5, -4T,+ 973, T
Lo Cmy - < - T = 257
$o= A5 T, I, - 207,
2 = : _r_'__' & Wi 5 4 7 - .
‘:} - :‘:’ T - "“" Y » I_f . J : S \.'I
A"
~ v ! ! "> o ) . i - ”
= ) Nh\ Wias Lo /?f-g-f‘ SR W SR I Jual BC imibace ccang $5 g4
J - Soa= 15T S =/ 15 b P
= c..«; D I3 v DD - |[,' ( VRS RS -‘2_»,'_)1': - !_‘2 B :|
-
i |
M € P Ty (W ﬂ»{ e ‘€ V3 il D yu ot q(w e
()\_‘,-i‘ SC LQ Q"-.\"Cm 6 Aaof b ".r‘!éj AT A N o
Tan Yt t L e
x )
i { 4 -
Va2 '73 | = vfn L | < ~
o i \ - f -
-~ R )
T [ = |
{¢ \ -






VRoa € 3

> iz 4ok
%

lj: = ")ﬁx\ z g .
< o R L A Y Y00
| -~ .);‘v - U. — (). ! — f,
L { ] wy mlf J__J:-/ __}e'_ e =
(=& = [0 4o
,':o\ cri Ao s nada |
| \ (2

U= tov: U, =-1SV @ (2)

(v) £ =552
i*'},gf’ J2 15‘3 Y. }
5:2. “;&: o taal ‘%fﬁ iy At f’?-'{?.-'.i ']
P ~ 2 B L
i W _:,_:\,, (9,3 VN ‘lx 7P .‘A.,M_f 3
12k -
k) C'L) s 3;’3_!.!)% Vi ?-).r
)1 | “E’ L (| ( U.} AL
[ L { . W 1_____%, fS’ ey
Sty A Tertane |
et /\)\f\"‘ - z 5 - ! N ! Nans tagrhee
) - S B S o
P | - i er——— |
n - " 2 } f
{E— v [ TP tf ‘ J
v \‘;l f . L & \ . a !_‘“J\’.. [ -
éﬁﬂu./‘ - ’ [} :'_-: ,‘, \‘v ‘Y)‘ !
(; o
P
(3) (\3)
"
C> E\/HJ‘: Maoutasce  of
) (Y . : Mook oa = Y. 0
L) A J =0 U o Jp > U ALianta 2
Lo ead y amg
i fie J

LU'\ - ~0 S,

(n

L



:)

-3 -
(> 40919 " TO. 107 L v¢ L& ¢
e = = ~ . w_N ’\..
«, ! T
- 2y g -
L = 400 . (o N 2,0/__,&)*
. =
= { =)
N -3 e

(“
|
\nJ
O
o
S
5‘.
{
~
Oy
v
L
rT™
L
]
Sy
3
]
i~
i
/e
%
C
>
N

30, (9" ° ,
N 2219
N <5 [ .'f
9= | g0ttt + [ 0,4
v/ |
o] ; N -1
Zph 3,10
p W \
= g EDQI {{ \ U (. -6 1 7N
. e )] _‘ ;_“),d-, 33 f'.? ‘;ZI
2 | £ {
Ll i'}
Py . “é
= 4, 0T as L. (o

——T
‘if L
J = | Lodb g | 1} ) (- Cdr T
C C At

Ll
S
e
o~
™\
»
S
o=
A
P
-
hom ]

f 4 [ S0 120. {9
= by ™~ F LL & | I .
- < ']2"« {>{x g. .> )( | A tD oy
& ||'I (\
L N .10
. 4 [/ .. p T \ﬁ"i
= 2, 128. 0% | 4107 [ 2510 + 0,4 (1510 7 |
L )" E»\ 0,-, {)“'o



